SECTION R.5 Rational Expressions | 47

Exercises

Find the domain of each rational expression. See Example 1.
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10. Concepi Check Use specific values for x and y to show that in general, % + } is not
equivalent to ;C-Jlr—y

Write each rational expression in lowest terms. See Example 2.
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Find each product or quotient. See Example 3.

15 6 83 52 %+8  3k+12
23, 22 . P 24, 00 25. +
9p*  10p? 6r 93 6 2
Sm+25  6m+30 24x 25 Py 49
26, 2T 20 O 27. X 28 L T
. 10 12 5 xy+y 7 Yty
da+ 12 2 6r—18 - 4r—12
29, -4 S halk 30, —— P .
2a—10 a®>—a—20 9 +6r—24 , 12r— 16
g PP 12 p*— 9p + 20 y P15 42—
Tpr-2p—15 P2 —8p+16 x4+ 11x+30 x2—8x+15
24 3+ z + 24y-2 Y2 43y+2
33, ™ 3m+2  m*+5m+6 a4, y Ty LY Y

m>+5m+4  m?+ 10m+ 24 Y243y —4 Yy +4dy+3

x3+y3 x2,.y2 xZ_yZ x?.,«xy_*_yZ x3+y3
35, - 36. : + :
S =yt X 2y P (x=y)? 2-2+y (x-)
5y, 2T +2y7 — 2yw Az + 4w +az + wx
’ 72— w? . 16 — x2
38 ac + ad + bc + bd a®— b3
’ a?— b2 2a2 + 2ab + 2b?

39, Concept Check Which of the following rational expressions is equivalent to —17
In choices A, B, and D, x ¥ —4, and in choice C, x # 4. (Hint: There may be
more than one answer.) :
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40. Explain how to find the least common denominator of several fractions.




48 = CHAPTERR Review of Basic Concepts

Perform each addition or subtraction. See Example 4.
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Simplify each expression. See Example 5.
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